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1. Find the product of extremes 0f13:12 and20:11
(i) 140 (ii) 142 (iii) 145 (iv) 240 (v) 143

2. Aratiois equal to 7 : 5. If its antecendent is 1715, what is its consequent?

(i) 1226 (ii) 1224 (iii) 1225 (iv) 1222 (v) 1228

3. Theratio 5: 2 is proportional to which of the following ratios?

(i) 15:12 (ii) 25:8 (iii) 20:10 (iv) 10:4 (v) 30:6

4. Ifa:b::b:c,then the mean proportional is

(i) c (ii) b (iii) bc (iv) ac (v) a

5. Find the ratio between 11 months and 3 years

(i) 11:38 (ii) 11:36 (iii)) 11:34 (iv) 10:36

6. The fraction equivalent of the ratio35:93 =
35 37
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7. A certain amount has been divided into two parts in the ratio 6 : 9. If the first part is 192, find the total amount.

(i) 482 (ii) 478 (iii)) 481 (iv) 480 (v) 479

8. Ifa:b::c:d,then
(i) ad = bc (ii) abc = bcd (iii) ac =bd (iv) ab=cd

9. Divide 19023 in the ratio 23 : 28
(i) 8580, 10444 (ii) 8579, 10441 (iii) 8579, 10446 (iv) 8579, 10444 (v) 8578, 10444

10. The simplest form of15:39 =

(i) 15:42 (ii) 5:11 (iii) 6:13 (iv) 5:13 (v) 4:13

11. Divide 2793 intheratio5:1:10:3
(iy 735,147, 1470, 441 (ii) 736, 147 ,1470, 441 (iii) 735, 150, 1470, 441 (iv) 734,147, 1470, 441

(v) 735,145,1470, 441

12. Find the fourth proportional of 12, 20, 9
(i) 14 (ii) 13 (iii)) 16 (iv) 15 (v) 17
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DivideX89600among A,B,C so thatA shall receive 3 of what B and C together recieveand B may receive s

of what A and C receive

(i) ¥6400.00:325600.00:357600.00 (ii) X57600.00:36400.00:325600.00
(iii) ¥6400.00:X25600.00:325600.00 (iv) X25600.00:357600.00:36400.00

(v) X6400.00:X57600.00:325600.00

Find the mean proportional of98and 2

(i) 2 (ii) 14 (i) 11 (iv) 196 (v) 98

Find the ratio between 9 | and 3 Kkl
(i) 3:1000 (ii) 3:998 (iii) 3:1002 (iv) 2:1000
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A ratio is equal to 3 : 5. If its consequent is 8190, what is its antecendent?

(i) 4913 (ii) 4914 (iii) 4916 (iv) 4915 (v) 4912

Increase572in the ratiol3 : 15
(i) 661 (ii) 659 (iii) 662 (iv) 657 (v) 660

Find the missing value in the equation39:1=195:

(i) 7 (ii) 5 (iii) 4 (iv) 6 (v) 3

Find two numbers whose mean proportional is10and third proportional is80

(i) 5and18 (ii) 5and19 (iii) 5and20 (iv) 7and20 (v) 6and20

Find the missing value in the equation24:6 = 7

(i) 25 (ii) 29 (iii) 27 (iv) 28 (v) 31

Divide 1014 in the ratio 19 : 20
(i) 494,520 (ii) 493,520 (iii) 495,520 (iv) 494,523 (v) 494,518

Find the ratio between 34 min and 9 hr

(i) 17:270 (ii) 17:267 (iii) 16:270 (iv) 17:273

88
The ratio equivalent of the fraction 15 =

(i) 88:17 (ii) 15:88 (iii)) 87:15 (iv) 88:15 (v) 88:13

Ifa:b::c:d,then 'd"is called

(i) second term (ii) extreme (iii) mean proportional (iv) firstterm (v) third proportional



Assignment Key

1) (v) 2) (iii) 3) (iv) 4) (ii) 5) (ii) 6) (iv)
7) (iv) 8) (i) 9) (iv) 10) (iv) 11) (i) 12) (iv)
13) (i) 14) (ii) 15) (i) 16) (v) 17) (ii) 18) (v)
19) (ii) 20) (iii) 21) (iv) 22) (i) 23) (i) 24) (iv)
25) (ii)
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